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ERHR 210,153| 9,252 2,566 44 1,064 11.5 940 88.3 67 19 10| 844 49 75
FEM 40,710 719 248 18 22 3.1 18 81.8 - 1 - 17 4 -
giEm | 64741 1,731 558 2.7 360 208 358 99.4 7 11 9] 331 - 2
TN 18,170 771 165 42 58 75 51 87.9 10 1 - 40 1 6
miEm 28,303| 1,213 359 43 46 38 40 87.0 - - - 40 6 -
AEM 21,062| 2018 424 9.6 214 10.6 191 89.3 37 2 -l 152 - 23
FIEEEt | 26,874| 2,501 685 9.3 345 13.8 265 76.8 12 3 -l 250 38 42
Iz 7 BT 13,606| 1,035 229 7.6 150 14.5 108 720 3 - -l 105 1 41
%W ET 13,268| 1,466 456 11.0 195 13.3 157 80.5 9 3 - 145 37 1
REEBET 10,293 299 127 2.9 19 6.4 17 89.5 1 1 1 14 - 2
it 7 #r 10,293 299 127 2.9 19 6.4 17 89.5 1 1 1 14 - 2
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# 1= 1= &
(%) (%) (%) =l = B
Elias | 231,284| 20,101 4879 87| 1,598 79| 1,202 752] 353 48[ 799] 130| 266
PEH 40,710/ 1,663 677 4.1 104 6.3 80 76.9 19 5 56 20 4
£¥mt | 87,725/ 6,658 1914 7.6 602 9.0 461 766] 112 27| 321 18] 123
w8 18,170| 2,128 718 1.7 225 10.6 178 79.1 70 2| 105 1 46
Wim 28,303 3,355 335 1.9 265 7.9 192 725 56 2| 134 71 2
KEH 21,062 3,148 400 14.9 209 6.6 158 75.6 50 6 102 - 51
FISEBET 26,874| 2,438 582 9.1 141 5.8 88 62.4 36 4 48 19 34
Is; 7 AT 13,606| 1,545 253 114 94 6.1 60 63.8 25 3 32 - 34
% W ET 13,268 893 329 6.7 47 5.3 28 59.6 11 1 16 19 -
REEBE 8,440 711 253 84 52 73 45 86.5 10 2 33 1 6
it 5 BT 8,440 711 253 8.4 52 73 45 86.5 10 2 33 1 6
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(%) (%) (%) -1 -1 -1 g4
ERf 99,647 4,098 1,090 41 524 12.8 452 86.3 37 13 10| 392 27 45
FEM 19,631 359 120 18 10 2.8 8 80.0 - 1 - 7 2 -
KIEET | 30285 738 228 2.4 164 22.2 163 99.4 2 7 9 145 - 1
TN 8,583 422 75 49 37 8.8 31 83.8 5 1 - 25 1 5
miEm 13,673 488 148 36 25 5.1 19 76.0 - - - 19 6 -
AEM 9,898 876 179 8.9 125 14.3 110 88.0 23 2 - 85 - 15
PIBERET 12,836| 1,086 288 8.5 150 13.8 109 72.7 6 1 -l 102 18 23
Iz 7 BT 6,591 447 83 6.8 72 16.1 49 68.1 2 - - 47 1 22
%A 6,245 639 205 10.2 78 12.2 60 76.9 4 1 - 55 17 1
REEBET 4,741 129 52 2.7 13 10.1 12 92.3 1 1 1 9 - 1
it 7 #r 4,741 129 52 2.7 13 10.1 12 92.3 1 1 1 9 - 1
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&gk | 110535 7,880 1,896 7.1 762 9.7 576 756] 140 24| 410 52 134
PEH 19,631 606 231 3.1 49 8.1 39 79.6 6 3 30 8 2
KigET | 42045 2592 761 6.2 299 115 226 75.6 49 13| 163 7 66
w8 8,583 935 282 10.9 116 12.4 91 78.4 30 1 59 - 25
Wim 13,673 1,234 133 9.0 102 8.3 70 68.6 18 1 51 31 1
KEM 9,898 1,305 173 13.2 110 8.4 83 75.5 17 3 63 - 27
FISEBET 12,836 940 226 7.3 57 6.1 42 73.7 17 2 23 5 10
Is; # ET 6,591 611 88 9.3 42 6.9 32 76.2 13 2 17 - 10
% T 6,245 329 138 5.3 15 46 10 66.7 4 - 6 5 -
RERE 3,869 268 90 6.9 29 10.8 25 86.2 3 1 21 1 3
it 5 BT 3,869 268 90 6.9 29 10.8 25 86.2 3 1 21 1 3
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ERHR 110,506| 5,154| 1,476 47 540 10.5 488 90.4 30 6 -| 452 22 30
FEM 21,079 360 128 1.7 12 3.3 10 83.3 - - - 10 2 -
KIEET | 34,456 993 330 2.9 196 19.7 195 99.5 5 4 -l 186 - 1
e 9,587 349 90 36 21 6.0 20 95.2 5 - - 15 - 1
miEm 14,630 725 211 5.0 21 2.9 21| 100.0 - - - 21 - -
AEM 11,164 1,142 245 10.2 89 7.8 81 91.0 14 - - 67 - 8
PIBERET 14,038| 1,415 397 10.1 195 13.8 156 80.0 6 2 -| 148 20 19
Iz 7 BT 7,015 588 146 8.4 78 13.3 59 75.6 1 - - 58 - 19
%A 7,023 827 251 1.8 117 14.1 97 82.9 5 2 - 920 20 -
REEBET 5,552 170 75 3.1 6 35 5 83.3 - - - 5 - 1
it 5 BT 5,552 170 75 3.1 6 35 5 83.3 - - - 5 - 1
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x b= & & El 2 Dol # ]
# 1= 1= &
(%) (%) (%) =l = B
Elias | 120,749 12,221 2,983 10.1 836 6.8 626 749] 213 24 389 78| 132
PEH 21,079 1,057 446 5.0 55 5.2 41 745 13 2 26 12 2
KET | 45680 4066 1,153 8.9 303 75 235 776 63 14| 158 11 57
w8 9,587 1,193 436 12.4 109 9.1 87 79.8 40 1 46 1 21
mEm 14,630| 2,121 202 145 163 7.7 122 748 38 1 83 40 1
KEH 11,164| 1,843 227 16.5 99 54 75 75.8 33 3 39 - 24
FISEBET 14,038 1,498 356 10.7 84 5.6 46 54.8 19 2 25 14 24
Is; 75 BT 7,015 934 165 13.3 52 5.6 28 53.8 12 1 15 - 24
o N 7,023 564 191 8.0 32 5.7 18 56.3 7 1 10 14 -
RERE 4,571 443 163 9.7 23 52 20 87.0 7 1 12 - 3
it 5 BT 4,571 443 163 9.7 23 5.2 20 87.0 7 1 12 - 3
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BN | 218333] 14565 5,187 6.7
N e 40,710 1273 524 3.1
BBET 87,725 1,387 905 16
g 18,170 1,484 401 8.2
B 15,352 1,949 629 12.7
L i 21,062 3,549 1,161 16.9
FIEERE 26,874 3,394 1,147 12.6
sz 7 BT 13,606 1577 472 12
% H BT 13,268 1817 675 13.7
AEERE 8,440 1,529 420 18.1
4t 77 81 8,440 1,529 420 18
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* 1 &= H¥ (%) LEH (%) n,u&)-rf H HdE %‘E%;

BN 14,565 5,187 359 25 331 922 149 5 9 171 6 19
BB H 1,273 524 1 0.1 1 100.0 1 - - - - -
BBET 1,387 905 30 22 28 933 11 - - 17 - 2
g 1,484 401 64 43 56 875 32 - 1 23 3 5
B 1,949 629 - - - - - - - - - -
A gH 3,549 1,161 168 47 158 94.0 76 3 2 77 - 10
TS EE 3,394 1,147 38 1.1 31 816 7 2 6 19 3 1
1) 1,577 472 9 0.6 8 88.9 1 2 1 4 - 1
= § AT 1817 675 29 16 26 89.7 6 - 5 15 3 -
AEEE 1,529 420 58 38 57 98.3 22 - - 35 - 1
3t 75 &7 1,529 420 58 38 57 98.3 22 - - 35 - 1
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X % |(22EH| B8 B = N REE | R E | Hor | FLO | S0E RIEE sZE
* 2 wE * 3 (%) ZEHR (%) 2T & HdE f}%

BB 280 122 1 0.4 1 - 1 - - - - -
N B 25 6 1 40 1 - 1 - - - - -
BBRET 39 18 - - - - - - - - - -
g 21 7 - - - - - - - - - -
BiEm 40 23 - - - - - - - - - -
A g 58 23 - - - - - - - - - -
FIEERE 82 37 - - - - - - - - - -
sz 7 BT 9 2 - - - - - - - - - -
% f BT 73 35 - - - - - - - - - -
AEEE 15 8 - - - - - - - - - -
i % BT 15 8 - - - - - - - - -
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£ 5 |zpan| =8 = gpE | & 4 | Hor | Bo0 | fos | xuE | B2
| we | sw | co | mEm| G0 |@ed )| U5 | 563 | 3Th 2
BN 5,732 1,817 169 29 154 911 67 5 3 82 4 8
e 605 240 1 0.2 1 100.0 1 - - - - -
BHBET 255 96 13 5.1 13 100.0 5 - - 8 - -
g 685 183 37 54 31 83.8 17 - - 14 2 4
miEm 773 255 - - - - - - - - - -
AEM 1,407 417 78 55 74 949 31 3 - 40 - 4
PFIBERET 1,382 455 16 1.2 11 104 4 2 3 5 2 -
Iz m AT 640 172 3 0.5 3 100.0 - 2 - 1 - -
VN 742 283 13 1.8 11 4.0 4 - 3 4 2 -
AREE 625 171 24 3.8 24 100.0 9 - - 15 - -
it 75 B 625 171 24 3.8 24 100.0 9 - - 15 - -
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27| ma | Y5 | e | mEm| G0 |@eY )| U5 | 565 | 3T 2
BN 249 110 1 0.4 1 100.0 1 - - - - -
PeR= ) 21 3 1 48 1 100.0 1 - - - - -
BHBET 35 16 - - - - - - - - - -
TR 20 7 - - - - - - - - - -
mEm 37 22 - - - - - - - - - -
KEM 54 21 - - - - - - - - - -
PFIBERET 69 34 - - - - - - - - - -
I 7 ET 9 2 - - - - - - - - - -
% ) HET 60 32 - - - - - - - - - -
RERRE 13 7 - - - - - - - - - -
it A B 13 7 - - - - - - - - -
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o i | B0R | BEE | ag TR [ KRG FAT s
x5 |2pEn| = TR T ek | mow | ok | BUo | nos | xeE | 2P,
| B | wm | oo | mEm| G0 | me¥ | U5 | 863 | 3Th
ENRE 8,833 3,370 190 22 177 93.2 82 - 6 89 2 11
BE® 668 284 - - - - - - - - - -
BHRT 1,132 809 17 1.5 15 88.2 6 - - 9 - 2
1T 799 218 27 3.4 25 92.6 15 - 1 9 1 1
WM m 1,176 374 - - - - - - - - -
XEM 2,142 744 90 4.2 84 93.3 45 - 2 37 - 6
PISERET 2,012 692 22 1.1 20 177 3 - 3 14 1 1
Iz 7 AT 937 300 6 0.6 5 83.3 1 - 1 3 - 1
5 H BT 1,075 392 16 1.5 15 93.8 2 - 2 11 1 -
AREERET 904 249 34 3.8 33 97.1 13 - - 20 - 1
dc 5 By 904 249 34 3.8 33 97.1 13 - - 20 - 1
1 BRMREREEH U CEBLLEEET
<BEIyYABBERUEEERD > (FR28E )
. spis | 2o | BRE | BR T HAT | 5AG | FAL "
2 » |mpEm| me | sm | x| | zex | &2 | sor | Bo | os [ xeE | BP
27| vE | 53 | oo |mwm| G | wev | "F | 8% | 2Tp
EREH 3 2 - - - - - - - : : :
78 4 - - - - - - - - - -
aBAT 4 2 - - - - - - - - - -
LR i - - - - - B B B B B B
HED 3 i . - - - - - - - - -
AR 4 2 . - - - B B B - - -
PBE 13 3 - - - - - - - - - -
5 B B B - - - B B B B B B
% 1 A7 13 3 - - - - - - - - - -
AR 2 i . = = = — — — — — —
1 75 A1 2 1 — — — — — — — — — —
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I FEENABRDERIKR(T6—4) (Efi284&ERE)

ZLEHR REREHR

gk | BN | BBk | Bre2 | BB ) wADE | MARY | R
R % |swgsn| s=x WIEE | 24 = EpE | B % 7;)/;5 f\}g%";t CIN2T | CINIT | BEBE | L 0hs [cINELs| REBE | KIEER

gpEy | BEOE | 2pEy | 2pEg| oo 2w | o0 | BER| W | Bo¥ | & fg | BOTE | BOE (THOIE %é_g* ‘gffg ﬁ
ERBE| 164,130 11,316 2,663 14,370 4,768 12.7 170 1.5 141 829 45 4 2 18 43 - 3 12 13 10
BEm| 28307 1,002 369 947 300 58 13 13 11 84.6 1 1 - 4 - - 1 - 2 -
&R 61,345 2,352 796 2,285 63 75 67 2.8 57 85.1 21 1 2 8 16 - - 9 7 3
wEdm| 12232 1,132 - 4,050 579 37.6 21 19 14 66.7 11 - - - 3 - - - - 1
miET 21,448 2,730 311 2,612 1,992 15.6 24 0.9 23 95.8 5 1 - 1 11 - 2 - 1 -
KEF| 14671 2,104 349 2,242 1,410 20.0 24 1.1 20 83.3 3 1 - 2 7 - - 2 - 4
PFIEEE] 19810 1,316 619 1,563 60 14.2 9 0.7 5 55.6 2 - - 1 2 - - - 3 1
I 7 BT| 10,241 672 290 852 27 146 3 0.4 2 66.7 1 - - - 1 - - - - 1
3 NI ) 9,569 644 329 711 33 138 6 0.9 3 50.0 1 - - 1 1 - - - 3 -
AREEE 6,317 680 219 671 364 15.6 12 18 11 917 2 - - 2 4 - - 1 - 1
it A BT 6,317 680 219 671 364 15.6 12 1.8 11 91.7 2 - - 2 4 - - 1 - 1
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2 2 EJ S b= & B £l 2 H|l oo # 2

= = & 4 1= % 1= &

E E B (%) (%) (%) & H & py
BENE | 120,749| 10,985 2,729 12,419 4,016] 16.1 781 7.1 705 90.3] 275 30 3[ 397 29 47
BEM 21,079 1,099 379| 1,108 453 8.3 73 6.6 73 100 32 5 - 36 - -
&#Em | 45680 2908 835| 2,850 21 12.6 176 6.1 170 96.6 70 11 - 89 - 6
[T 9,587 1,053 163 921 624 14.1 58 55 52 89.7 5 2 - 45 - 6
WmiEm 14,630 2,712 299| 2,666 2,089 225 151 5.6 140 927 40 3 92 11 -
XEM 11,164 869 300| 2,147 - 27.0 50 5.8 43 86.0 21 1 - 21 - 7
FIEEE | 14038 1560 593| 1,865 346 219 218 14.0 176 80.7 93 5 - 78 16 26
I; 7 M 7,015 763 254 920 213" 21.0 112 14.7 86 76.8 45 3 - 38 - 26
R N 7,023 797 339 945 133|| 22.9 106 13.3 90 84.9 48 2 - 40 16 -
RERE 4,571 784 160 862 483" 25.4 55 7.0 51 927 14 1 - 36 2 2
taEr | as71|| 784|  1e0| se2 483 254 55 7.0 51 927 14 1 N 2 2
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GiLIE 2 2 EH C:3 = R |22E| E = R
= 5 z RRE|EEE(ROT| K | FRE|(EEE| 20T

; 40%% | 50%% | 60&% | 705 | 40% | 508% [ 60%% [ 70%% (X
ENHE 959 87 57 49 80 247 159 155 125 616 211 132] 1,126 115 123 888
NEM 194 20 8 9 15 50 28 41 23 143 32 19 240 80 59 101
&HBIRT 329 16 14 15 52 62 40 48 82 276 36 17 - - - -
1T - - - - - - - - - - - - - - - -
mifEm - - - - - - - - - - - - 260 15 25 220
AKEBEM 226 23 22 15 - 70 57 39 - 125 48 53 438 4 21 413
FISARET 167 24 10 7 6 62 28 17 13 48 81 38 125 7 7 111
Iz 7 AT 86 8 4 7 6 24 11 15 11 36 44 6 - - - -
3 N 81 16 6 - - 38 17 2 2 12 37 32 125 7 7 111
AREEET 43 4 3 3 7 3 6 10 7 24 14 5 63 9 11 43
it 7 HT 43 4 3 3 7 3 6 10 7 24 14 5 63 9 11 43
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MNEEWN | 228 | 20F | 22E% | 22 | L . N it
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BN 5,367 426 7.9 427 8.0 - - - - 5 1.2
PEM 1,040 48 46 48 46 - - - - - -
EHRT 2,013 1 0.0 1 0.0 - - - - - -
1T ) 306 17 5.6 17 5.6 - - - - - -
miEm 901 175 19.4 176 195 - - - - 4 2.3
AEM 122 49 40.2 49 40.2 - - - - - -
FIBERE 742 112 15.1 112 15.1 - - - - 1 0.9
I & ET 414 58 14.0 58 14.0 - - - - 1 1.7
2 ) 328 54 16.5 54 16.5 - - - - - -
AEEET 243 24 9.9 24 9.9 - - - - - -
it 5 BT 243 24 9.9 24 9.9 - - - - - -
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BN R CEPFXDFHER BEFXDHER
e CEIFT#% | BRI R EEEL B LVE - y -
ZyEy | 22| HED FIEQ Hi it
(%) (%)
41~445% 295 295 - - - - 1 0.3
45~497% 344 343 - - - - 1 0.3
50~547% 367 367 - - - - 1 0.3
55~597% 327 326 2 - 2 0.6 3 0.9
60~ 6455 497 497 - - - - 4 0.8
65~697% 361 361 1 - 1 0.3 2 0.6
0L 206 205 - - - - 2 1.0
it 2,397 2,394 3 - 3 0.1 14 0.6
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BRI 2,650 189] 974 5730 28| 1074 227 899 33| 610 25| 525 20| 342 4 50 321 536 316 1,694 - -

FEf 768 47 10 11 1 1 1 2 3 3 - - - - - - 4 4 1 1 - -

EHFRT 1,265 92 25 40 - - - - - - - - - - - - 5 5 20 35 - -

TR 144 10 3 4 - - - - - - - - - - - - - - 3 4 - -

Wi - - 10 25 - - - - - - - - - - - - - - 10 25 - -

A B 205 24] 851| 5,164 21| 1,050 214 858 25| 590 20 364 20| 342 3 48| 300 369 248 1,543 - -

PFIEERET 158 14 37 358 2 8 - - - - 5 161 - - - - 7 139 23 50 - -

Is; 7 M7 48 8 22 49 - - - - - - - - - - - - - - 22 49 - -

% BT 110 6 15[ 309 2 8 - - - - 5 161 - - - - 71 139 1 1 - -

ARERET 110 2 38 128 4 15 12 39 5 17 - - - - 1 2 5 19 11 36 - -

it 5 BT 110 2 38| 128 4 15 12 39 5 17 - - - - 1 2 5 19 11 36 - -
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it 5 #r - - - - - 7 95 - - 1 6 - - - - - - 6 89
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